A N2




—— 1. g
bal e = Al
NC
—
ViR ah
PR ¢
1
-

i



RIRE I e B T R S Y AR

e
-
[}
(mA/em?)

C—tk E{ Sodieg o Yt =kl Vo N ekl AT at



- o0c (~ 10q ANO° M 1LA0k <
| — B ; |

2 A !
? e
s
ot ‘ ‘f
j8 ) =
900° C, Shr 900° C, 5hr

e B ——

v




1= —
i -
N v xe | .
=t . ..x_r«
p <~
- n
- ..C
..;m7o
k=S
! ;
— O
. Ir..I..ul.Hl nnm
- —
~ = -~ —_
. = //n. ] |
™=
ik
— = ,;/// 1_ -~ S S 2 S
7 - i S N o - &
"
| ul - 3
| - -l =T A«Eo\<, A

Wl
e

1

/o



R | Sl v e I e e










g00°C

S5hr
N
L
<
E
>: N
G / 900° C, Shr
I~ 100

I‘D £ i - F:: ° .

900° C, Shr

I| \‘__________f_. , . ff | \;M,,_________J___/
gl 0 2.0 o e -
900: ¢, fhr

anne o g,

Lntal




urrent
=
o0
——E
I .I_m-ll.
L
#=¥=za NES J n
!
i mmuuuu"uuuj -




10ﬁ

P

—

.

AT

A et 1

£ (]

o

'ln%iﬁﬁ:k?*gmrd:‘gzhal};z ﬂhrlgm A .o

— 1
<

,_Worim L

e

-

L

Mo%

-
T

Mc%
/,
4 iy

100

(=]

(wo/yr b_w.., L vt




102

z/m? .h)

te(y

ot 4 ¢ it"";‘—" e ol O O iy T L ———————————————

— =

b

— {

iy AR R A - HE e e




